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QUESTION 1

Which load balancing policy, previously limited to vSphere Distributed Switches, is now available on vSphere Standard
Switches with vSphere 6.x? 

A. Route based on physical NIC workload 

B. Route based on IP Hash 

C. Route based on the originating virtual port 

D. Route based on Source MAC Hash 

Correct Answer: A 

Route based on physical NIC workload was limited to vSphere Distributed switches. Now its available on vSphere
standard switches with vSphere 6.x 

Reference: https://pubs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/vsphere-esxi-
vcenterserver-60-networking-guide.pdf 

 

QUESTION 2

What is a requirement when enabling a Virtual SAN cluster in an existing High Availability (HA) and Distributed
Resource Scheduler (DRS) Cluster? 

A. Disable DRS and HA before enabling Virtual SAN 

B. Enable DRS before enabling Virtual SAN 

C. Disable HA before enabling Virtual SAN 

D. Enable Storage DRS before enabling Virtual SAN 

Correct Answer: C 

One of the requirement is to disable HA before enabling Virtual SAN. Reference:
https://pubs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/virtual-san-60administration-guide.pdf 

 

QUESTION 3

An administrator is attempting to power on a virtual machine, but is unable to do so. 

Which two reasons are probable causes of the failure? (Choose two.) 

A. Storage access to the virtual machine swap file has been lost. 

B. One of the virtual machine VMDK files is locked. 

C. Virtual machine is running CentOS 7.0 64-bit. 
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D. Virtual machine has Hyper-Threading enabled. 

Correct Answer: AB 

One of the reasons it is doing so is because the storage access to the VM machine swap file has been lost 

or one of the VMDK files is locked. 

Reference: https://kb.vmware.com/selfservice/microsites/search.do? 

language=en_USandcmd=displayKCandexternalId=10051 

 

QUESTION 4

Which two badges are major badges in vRealize Operations? (Choose two.) 

A. Risk 

B. Efficiency 

C. Workload 

D. Faults 

Correct Answer: AB 

vC Ops has 3 major badges and their status depends on the minor badges whose scores get rolled up to make up the
major badges. Those 3 major badges are Health, Risk, and Efficiency. Each of these 3 badges are weighted
combinations of minor badges. Thus, the major badges are the color and numerical score that they are because of the
status of the minor badges that they are summarizing. 

Reference: http://blogs.vmware.com/management/2014/04/david-davis-on-vcenter-operations-post-8understanding-
vcenter-operations-badges.html 

 

QUESTION 5

Refer to the Exhibit. 
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An administrator is configuring an ESXi 6.x host to use multiple NICs to resolve a management network redundancy
error. After configuring a second NIC, the server is not able to communicate when the primary connection is taken
down. The administrator analyzes the Exhibit shown here. 

Based on the exhibit, what is the likely cause of the issue? 

A. vmnic4 is not attached to a vSwitch. 

B. vmnic2 is not connected to a physical switch. 

C. E1000 is the incorrect NIC Driver for this card. 

D. There is a MAC address conflict on the network. 

Correct Answer: B 

The exhibit clearly shows that the vmnic2 is not connected to the physical switch that is why it is showing the down
warning. 
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